Review Summary - Acute Triangle Trigonometry

· You need to know: 
· how to label triangle sides and angles
· when to use the sine law
· when to use the cosine law
· how to calculate sine and cosine on the calculator
· be familiar with the proofs for sine law and cosine law
· In right triangles, you can use Pythagorean Theorem, or SOHCAHTOA

*Note: Diagrams are not to scale. You may want to change the labels on the triangles so that you can use the formulas easily.

· Calculator: in degree mode


To calculate the angle2nd sin ( which is sin-1) or 2nd cos (which is cos-1)

To calculate the sinesin, then the number, fraction or angle or cos, then the number, fraction or angle

· When you use the cosine law, you need either SSS (all _______ to find an angle) or SAS (two ______ and the _______ they enclose)45˚
5 m
5 m




There are situations for sine law too (p. 160) but if you know what cosine law needs, then any other situation will use sine law.

· 
*Remember: when an angle is labelled ABC, you are talking about an angle with vertex B.

· Practice:

1) Finish labelling the triangles below with capital letters for the angles and lower case letters for the
   sides.
I
j
h
A
b
C

a) 							b)  



2) Determine the values of the missing angles in the triangles below. Explain how you calculated it.C
B
70˚

F
G
95˚

a) 		72˚					b)  				c)

        60˚


Hint: What type of triangles are b) and c)?






3) In each case, state whether the Law of Sines or the Law of Cosines is the best choice to solve for x .
Substitute the values into the appropriate formula but do not solve.
[image: ]







[image: ]







4) Solve for the missing angle to the nearest degree or side length to the nearest tenth. State whether
    you used the sine law or the cosine law
[image: ]m

a)									 b)  					





9.4
6

A
C
17 cm
B
16 cm
14 cm

c) 			         						d)  







In question a), what do you have to calculate first?

5) Sketch and label the triangle and solve for the indicated angle(s) or side(s). 

a) A radio collar is used to track a grizzly bear. Two signal receiving stations are 9 km apart on a
   straight road. At station A, the signal from the collar comes from a direction of 49˚from the road. At
   station B, the signal from the same collar comes from a distance of 65˚from the road. Determine the 
  distance the grizzly bear is from each station.



b) In MNO, m = 36.5 m, o = 51.4 m, and  N = 126˚. Determine n.   



c)  Determine the length of CB. (There are different 		d) Determine the measure of A. 
    ways to do this. Note that it is a right triangle)     					AND

[image: ]										     Determine the measure of CB.
[image: ]











6) To approximate the maximum length of the pond a surveyor starts at Point A and walks to a position
    that is 380 metres northeast of the starting point to Point B. The surveyor then walks to Point C, 


    which is 240 metres southeast of the second point. The angle formed by segment  and  is 
    100°. [image: ]
· Label the diagram
· What is the approximate distance across the pond 
rounded to one decimal place?




									
								
													
						               							        100 km
150 km
220 km

7) 	Determine the missing angle.							    	          x				              									
												        56°


                            

						                    24°


Key:

Fill in blanks: three sides, sides, angleJ
i
H
I
j
h

a
B
c
A
b
C

1a) 							b) 
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2a) 48˚	b) C = 70˚	B=40˚ 70˚ and C are the same because the triangle is isosceles. Then

      use 180˚for triangles to calculate B



      c) G and F are each 42.5˚. Use 180˚ rule and both angles are 85˚altogether. Divide by 2.

3a) Law of Sines 	  		b) Law of Cosines a2 = 162 + 152 – 2(16)(15)cos 87°    

  c) Law of Sines 	 		d) Law of Cosines a2 = 222 + 312 – 2(22)(31)cos 135°                          



4a) sine law  e = 50.2 m	 b) cosine law   m = 201 m	c) cosine law C = 50˚   d) sine law  C =33˚	

5a) Use triangle rule to find the third angle, Station A 8.9 km, Station B 7.4 km	b) n = 78.6 m   

     c) CB = 6.5	d) A = 39°, CB = 32.4	
380 m
240 m
A
B
C

[image: ]6)  483.4 metres






7) = 58.6°
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